

→ Start

$$x_1 > 0, \ldots, x_n > 0$$

Start
$$x_1 > 0, \dots, x_n > 0$$

$$\frac{x_1 + \dots + x_n}{n}$$

Start 
$$x_1 > 0, \ldots, x_n > 0$$
 
$$\frac{x_1 + \cdots + x_n}{n} \geq$$

Start
$$x_1 > 0, \dots, x_n > 0$$

$$\frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \times \dots \times x_n}$$

Start
$$x_1 > 0, \dots, x_n > 0$$

$$\frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \times \dots \times x_n} \ge 0$$

$$x_1 > 0, \dots, x_n > 0$$

$$\frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \times \dots \times x_n} \ge \frac{n}{\frac{1}{x_1} + \dots + \frac{1}{x_n}}$$

▶ Start

$$x_1 > 0, \dots, x_n > 0$$

$$\frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \times \dots \times x_n} \ge \frac{n}{\frac{1}{x_1} + \dots + \frac{1}{x_n}}$$

Proof of first inequality

➤ Proof of second inequality

▶ Home

$$\overline{x_1 > 0, \dots, x_n > 0}$$

$$\frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \times \dots \times x_n} \ge \frac{n}{\frac{1}{x_1} + \dots + \frac{1}{x_n}}$$

▶ Proof of first inequality

➤ Proof of second inequality





• Proof of first inequality If n = 2.



• Proof of first inequality If n = 2.  $\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2$ 

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4}$$

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge$$

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

▶ Start

If 
$$n = 2$$
.
$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

$$\therefore \frac{x_1 + x_2}{2}$$

▶ Start

If 
$$n = 2$$
.
$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

$$\therefore \frac{x_1 + x_2}{2} \ge$$

▶ Start

If 
$$n = 2$$
.
$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

$$\therefore \frac{x_1 + x_2}{2} \ge \sqrt{x_1 x_2}$$

▶ Start

If 
$$n = 2$$
.  

$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

$$\therefore \frac{x_1 + x_2}{2} \ge \sqrt{x_1 x_2}$$

$$n = 2$$

▶ Start

If 
$$n = 2$$
.
$$\left(\frac{x_1 + x_2}{2}\right)^2 - (\sqrt{x_1 x_2})^2 = \frac{x_1^2 + 2x_1 x_2 + x_2^2}{4} - x_1 x_2$$

$$= \frac{x_1^2 - 2x_1 x_2 + x_2^2}{4}$$

$$= \frac{(x_1 - x_2)^2}{4} \ge 0$$

$$\therefore \frac{x_1 + x_2}{2} \ge \sqrt{x_1 x_2}$$

$$n = 2$$
 is true.





• Proof of first inequality
Assume







$$\frac{x_1+\cdots+x_{2^k}}{2^k}$$



$$\frac{x_1+\cdots+x_{2^k}}{2^k} =$$

▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}}$$

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \dots$$

▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}$$

▶ Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

▶ Start

• Proof of first inequality Assume  $n = 2^{k-1}$  is true.

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

 $\geq$ 

#### ▶ Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{x_1 + \dots + x_{2^k}}{2^k}$$

#### ► Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{x_1 + \dots + x_{2^k}}{2^k}$$

#### ▶ Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{x_1 + \dots + x_{2^k}}{2^k}$$

#### ► Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + \frac{2^k - 1\sqrt{x_{2^{k-1}+1}} \dots x_{2^k}}{2}}{2}$$

#### ▶ Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^{k-1}}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \cdots x_{2^k}}}{2}}{2}}{2}$$

$$\geq \frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} + \dots + x_{2^k}}}{2}}{2}$$

#### ▶ Start

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \cdots x_{2^k}}}{2}}{2}}{2}$$

$$\geq \sqrt{$$

#### ▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + 2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2}}{2}$$

$$\geq \sqrt{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}}$$

#### ▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + 2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2}}{2}$$

$$\geq \sqrt{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}$$

#### ▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}} + 2^{k-1}\sqrt{x_{2^{k-1}+1} \cdots x_{2^k}}}{2}$$

$$\geq \sqrt{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}}} 2^{k-1}\sqrt{x_{2^{k-1}+1} \cdots x_{2^k}}$$

$$= =$$

#### ▶ Start

Assume 
$$n = 2^{k-1}$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + 2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2}}{2}$$

$$\geq \sqrt{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} 2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}}$$

$$= 2^k\sqrt{x_1 \dots x_{2^k}}$$

#### ▶ Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2^k}}{2}}{2}$$

$$\geq \sqrt{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}}{2^k}} \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2^k}$$

$$= \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$\therefore \frac{x_1 + \dots + x_{2^k}}{2^k}$$

#### → Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2^k}}{2}$$

$$\geq \sqrt{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}}{2^k}}$$

$$= \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$\therefore \frac{x_1 + \dots + x_{2^k}}{2^k} \geq$$

#### ▶ Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \cdots x_{2^k}}}{2}}{2}}{2}$$

$$\geq \sqrt{\frac{2^{k-1}\sqrt{x_1 \cdots x_{2^{k-1}}}}{2^k}}$$

$$= \frac{2^k\sqrt{x_1 \cdots x_{2^k}}}{2^k}$$

$$\therefore \frac{x_1 + \dots + x_{2^k}}{2^k} \geq \frac{2^k\sqrt{x_1 \cdots x_{2^k}}}{2^k}$$

#### → Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^{k-1}}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + \frac{2^{k-1}\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}{2}}{2}}{2}$$

$$\geq \sqrt{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}}{2^k}}$$

$$= \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$\therefore \frac{x_1 + \dots + x_{2^k}}{2^k} \geq \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$n=2^k$$

#### → Start

Assume 
$$n = 2$$
 is true.  

$$\frac{x_1 + \dots + x_{2^k}}{2^k} = \frac{\frac{x_1 + \dots + x_{2^{k-1}}}{2^{k-1}} + \frac{x_{2^{k-1}+1} + \dots + x_{2^k}}{2^{k-1}}}{2}$$

$$\geq \frac{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}} + \frac{2^k-1}{\sqrt{x_{2^{k-1}+1} \dots x_{2^k}}}}{2}}{2}$$

$$\geq \sqrt{\frac{2^{k-1}\sqrt{x_1 \dots x_{2^{k-1}}}}{2^k}}$$

$$= \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$\therefore \frac{x_1 + \dots + x_{2^k}}{2^k} \geq \frac{2^k\sqrt{x_1 \dots x_{2^k}}}{2^k}$$

$$n=2^k$$
 is true.







• Proof of first inequality Let  $m = 2^l$ 







• Proof of first inequality Let  $m = 2^l$  such that n < m.

 $\alpha$ 



```
\alpha =
```



$$\alpha = \frac{x_1 + \dots + x_n}{n}$$



$$\alpha = \frac{x_1 + \cdots + x_n}{n} =$$



• Proof of first inequality Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{m}{n}$ 

▶ Start

• Proof of first inequality Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{m}{n} (x_1 + \dots + x_n)$ 

▶ Start

• Proof of first inequality Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{m}{n} (x_1 + \dots + x_n)$ 

▶ Start

• Proof of first inequality Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$ 

▶ Start

• Proof of first inequality
Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$   $x_1 + \dots + x_n$ 

▶ Start

• Proof of first inequality Let  $m = 2^l$  such that n < m.  $\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$   $x_1 + \dots + x_n + \dots$ 

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}}{n}$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n}{m}$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

▶ Start

Let 
$$m = 2^{l}$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{x_1 + \dots + x_n + (m - n)\alpha}$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .  

$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{\frac{m}{n}}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n}{m}$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{\frac{m}{n}}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

→ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

→ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m}$$

▶ Start

Let 
$$m = 2^{l}$$
 such that  $n < m$ .

$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{\frac{m}{n}}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \overbrace{\alpha + \dots + \alpha}^{m - n}}{m} \ge$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .

$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m} \ge \sqrt[m]{x_1 + \dots + x_n \alpha^{m - n}}$$

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{\frac{m}{n}}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m} \ge \sqrt[m]{x_1 + \dots + x_n \alpha^{m-n}}$$

$$\alpha^m \ge x_1 + \dots + x_n \alpha^{m-n}$$
,

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{m}{n} (x_1 + \dots + x_n)$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n} (x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m} \ge \sqrt[m]{x_1 \dots x_n \alpha^{m-n}}$$

$$\alpha^m \ge x_1 \dots x_n \alpha^{m-n} , \quad \alpha^n \ge x_1 \dots x_n ,$$

Let 
$$m = 2^l$$
 such that  $n < m$ .
$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{\frac{m}{n}(x_1 + \dots + x_n)}{m}$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n}(x_1 + \dots + x_n)}{\frac{m}{n}(x_1 + \dots + x_n)}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m} \ge \sqrt[m]{x_1 \dots x_n} \alpha^{m-n}$$

$$\alpha^m \ge x_1 \dots x_n \alpha^{m-n} , \quad \alpha^n \ge x_1 \dots x_n , \quad \alpha \ge \sqrt[n]{x_1 \dots x_n}$$

$$\alpha^m \ge x_1 \cdots x_n \alpha^{m-n}$$
,  $\alpha^n \ge x_1 \cdots x_n$ ,  $\alpha \ge \sqrt[n]{x_1 \cdots x_n}$ 

▶ Start

Let 
$$m = 2^l$$
 such that  $n < m$ .

$$\alpha = \frac{x_1 + \dots + x_n}{n} = \frac{m}{n} (x_1 + \dots + x_n)$$

$$= \frac{x_1 + \dots + x_n + \frac{m - n}{n} (x_1 + \dots + x_n)}{\frac{m}{n}}$$

$$= \frac{x_1 + \dots + x_n + (m - n)\alpha}{m}$$

$$= \frac{x_1 + \dots + x_n + \alpha + \dots + \alpha}{m} \ge \sqrt[m]{x_1 \dots x_n} \alpha^{m-n}$$

$$\alpha^m \ge x_1 \dots x_n \alpha^{m-n} , \quad \alpha^n \ge x_1 \dots x_n , \quad \alpha \ge \sqrt[n]{x_1 \dots x_n}$$

$$\therefore \frac{x_1 + \dots + x_n}{n} \ge \sqrt[n]{x_1 \dots x_n} \quad (n \text{ is true.})$$



### ► Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n}$$

### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \ge$$

### ► Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

#### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n}$$

#### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \ge$$

#### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \cdots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \frac{1}{\sqrt[n]{x_1 \cdots x_n}}$$

#### ▶ Start

Froof of second inequality
$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \frac{1}{\sqrt[n]{x_1 \dots x_n}}$$

$$\therefore \sqrt[n]{x_1 \times \cdots \times x_n} \geq$$

#### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \frac{1}{\sqrt[n]{x_1 \cdots x_n}}$$

$$\therefore \sqrt[n]{x_1 \times \cdots \times x_n} \ge \frac{n}{\frac{1}{x_1} + \cdots + \frac{1}{x_n}}$$

#### ▶ Start

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \sqrt[n]{\frac{1}{x_1} \dots \frac{1}{x_n}}$$

$$\frac{\frac{1}{x_1} + \dots + \frac{1}{x_n}}{n} \geq \frac{1}{\sqrt[n]{x_1 \cdots x_n}}$$

$$\therefore \sqrt[n]{x_1 \times \cdots \times x_n} \ge \frac{n}{\frac{1}{x_1} + \cdots + \frac{1}{x_n}}$$